®

NI

m@m ;\. M/@ QDO E
S B

< g

R Eﬂ. /e/@% s

®

0

.COM

TEL: 559.266.0258

EMAIL: INFO@RMKING

UPPER HOUSING DRUM DRIVE GEARS
MODELS 2022—635

@

\
— O\
A
2

2

NN
RM KING
COMPANY



NOTES:

UPPER HOUSING DRUM DRIVE GEARS

MODELS 2022 - 635 ]
Version 1.1 RM KlNG
COMPANY
ID | Part Number | Description Model MFG ID | Part Number | Description Model MFG
1 | 100-11255 | Snap Ring 2022-635 OEM 30 | 300633 Snap Ring 2022-635 OEM
2 | 102-23283 | Snap Ring 2055-635 OEM 31| 33915 Snap Ring 2022-635 OEM
3 | 116021A1 Gear 2055-635 RMK 32 | 386510 Spring 2022-635 OEM
4 | 1339217C1 | Gear 2022-635 OEM 33 | 394252A1 Cam Track L.H. CPX420-635 | RMK
5 | 1339309C1 | Gear 2022-635 RMK 34 | 394253A1 Cam Track R.H. CPX420-635 | RMK
6 | 1339404C1 | Gear 2022-635 RMK 35 | 394414A1 Clamp CPX420-635 | OEM
7 | 1982350C2 | Cam Track L.H. 2022-2555 RMK 36 | 47508373 Bearing 2022-635 OEM
8 | 1982350C2 | Cam Track R.H. 2022-2555 RMK 37 | 495-81190 | Washer 2022-635 OEM
9 | 1982409C1 | Gear 2022-635 RMK 38 | 672448R2 Spacer 2155-635 OEM
10 | 1982410C1 | Bushing 2555-635 OEM 39 | 72187249 Lock Washer - 3/8 | 2022-635 RMK
11| 1982412C1 | Spacer 2022-635 OEM 40 | 83996583 Lock Washer - 5/16 | 2022-635 OEM
12 | 1982414C1 | Sprocket 2022-635 OEM 41 | 84819985 Cam 2022-635 OEM
13 | 1982604C1 | Bracket L.H. 2022 - 2555 | OEM 42 | 86500692 Bolt - 3/8 x 3/4 2022-635 RMK
14 | 1982604C1 | Bracket R.H. 2022 - 2555 | OEM 43 | 86729275 Lock Washer - 5/8 | 2022-635 RMK
15| 1982611C1 | Bracket 2022-2055 | OEM 44 | 86977740 Bolt - 5/8 x 4 2022-635 RMK
16 | 1982612C1 | Bracket 2022-635 OEM 45| 87016 Washer 635-2555 OEM
17 | 1982615C1 | Spacer 2022-635 OEM 46 | 87381 Washer - 3/4 2022-635 RMK
18 | 1982620C2 | Bracket 2022-635 OEM 47 | 87424376 Cap CPX420-635 | OEM
19| 1982634C2 | Bolt-5/8 x 1 3/4 2022-635 RMK 48 | 87424378 Spacer CPX620-635 | OEM
20 | 1982636C2 | Bolt 2022-635 OEM 49 | 87424380 Bracket R.H. CPX420-635 | OEM
21| 1982637C2 | Bolt 2022-635 OEM 50 | 87424380 Bracket L.H. CPX420-635 | OEM
22 | 1984289C4 | Ratchet L.H. 2022-635 OEM 51 | 88206 Bolt - 3/8 x 1 2022-635 RMK
23 | 1984290C4 | Ratchet R.H. 2022-635 OEM 52 | 88574 Bolt - 5/16 x 1/2 2022-635 RMK
24 | 1988756C1 | Cap 2022-2555 | OEM 53 | 95-61034 Washer 2022-635 RMK
25| 1988758C1 | Hub 2022-635 OEM 54 | 9628503 Nut - 3/8 2022-635 RMK
26 | 201118C91 | Bearing 2022-635 RMK 55 | 9803341 Ring 2022-635 OEM
27 | 216138C2 Clamp 2022-2055 | OEM 56 | 9847025 Lock Washer - M20 | 2022-635 RMK
28 | 220358C1 Hub 2022-2055 RMK
29 | 230-46318 | Lock Nut-11/8 2022-635 OEM
3. 116021A1 REPLACES 1339324C1 52. 88574 REPLACES 413-58
30. 300633 REPLACES 800-2180 54. 9628503 REPLACES 425-106
31. 33915 REPLACES 100-21206 55. 9803341 REPLACES 124088A1
32. 386510 REPLACES 700703408 56. 9847025 REPLACES 892-11020
36. 47508373 REPLACES 524598R91
39. 72187249 REPLACES 492-11038
40. 83996583 REPLACES 492-11031
41.84819985 REPLACES 70073406
42. 86500692 REPLACES 413-612
43. 86729275 REPLACES 492-1 1062
44. 86977740 REPLACES 413-1064
45. 87016 REPLACES 495-11041
46. 87381 REPLACES 495-11081
51.88206 REPLACES 424-616

EMAIL: INFO@RMKING.COM
TEL: 559.266.0258



	R.M. King Parts Catalog IH Intro
	R.M. King Parts Catalog IH
	R.M. King Parts Catalog Parts Pages



